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lä
s
s
t

s
ic

h
n

ic
h

t
vo

rh
e

rs
a

g
e

n
.

(c
)

p
u
b
lic

d
o
m

a
in

W
ie

d
e

rh
o

lt
e

r
W

ü
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ö
g

lic
h

(d
ie

b
e

s
s
e

r
is

t
a

ls
re

in
e

s
R

a
te

n
).

6
/7

5

D
e
te

rm
in

is
ti
s
c
h
e

u
n
d

z
u
fä
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fä
lli

g
e

n
V

o
rg

a
n

g
s
.

D
e

r
W

e
rt

e
b

e
re

ic
h
S

(e
n

g
l.

s
ta

te
s
p

a
c
e

)

e
in

e
r

Z
u

fa
lls

g
rö
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rü
c
k
e

n
:

D
ie

W
s

d
e

s
E

re
ig

n
is

s
e

s
{X

∈
A

,
Y
∈

B
}

lä
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ä
n
g
ig

k
e
it

In
d

e
r

P
ra

x
is

w
e

n
d

e
t

m
a

n
h
ä
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rö

ß
e

n
,

s
o

s
c
h

re
ib

t
s
ic

h
d

e
r

E
rw

a
rt

u
n

g
sw

e
rt

a
ls

E
X

=
∑

a

a
·k

a n
=

∑

a
a
·k

a

n
=

S
u

m
m

e
d

e
r

W
e

rt
e

A
n

z
a

h
l
d

e
r

W
e

rt
e

.
2

6
/7

5



E
rw

a
rt

u
n
g
sw

e
rt

D
e

fi
n

it
io

n
(E

rw
a

rt
u

n
g

sw
e

rt
)

S
e

i
X

e
in

e
Z

u
fa

lls
va

ri
a

b
le

m
it

e
n

d
lic

h
e

m
o

d
e

r
a

u
fz

ä
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ü
b

e
rd

u
rc

h
s
c
h

n
it
tl
ic

h
g
ro

ß
e

W
e

rt
e

o
d

e
r

b
e

id
e

u
n

te
rd

u
rc

h
s
c
h

n
it
tl
ic

h
g
ro

ß
e

W
e

rt
e

a
n

n
e

h
m

e
n

.

n
e

g
a

ti
v

k
o

rr
e

lie
rt

,
w

e
n

n
X

u
n

d
Y

te
n

d
e

n
z
ie

ll
a

u
f

ve
rs

c
h

ie
d

e
n

e
n

S
e

it
e

n
ih

re
r

E
rw

a
rt

u
n

g
sw

e
rt

e
lie

g
e

n
.

S
in

d
X

u
n

d
Y

u
n

a
b

h
ä
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ö

n
n

e
n

w
ir

n
u

n
b

e
w

e
is

e
n

:

S
a

tz

S
in

d
X

1
,X

2
,.

..
X

n
u

n
a

b
h
ä
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fü
r

g
ro

ß
e

n
s
e

h
r

a
u

fw
ä
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ü
b

e
rz

e
u

g
e

n
,

m
ü
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